for NVIDIA GEFORCE RTX 2080 / 2070 SUPER / 2080 SUPER
Bitspower’ Bt

(1) BP-VG2080RD-A2 14
@ 1.0 EXREBHBA 5k
@ 25 EXREHBA 6 R
@ zEB% 1%
(6) M2.5x 8 BE:Kig# 15%
@ Bitspower &1 1k
(@) M2.5x 6 ki 1%
M3 x 8 Z3K R4 4%
@ Bitspowertg i 1k
Accessories

(1) BP-VG2080RD-A2 1SET
@ 1.0 mm Thermal pad 5 PCS
@ 2.5 mm Thermal pad 6 PCS
@ Booster Screw 1 PCS
@ M2.5 x 8 mm Screw 15 PCS
@ Bitspower backplane 1 PCS
@ M2.5 x 6 mm Screw 1PCS
M3 x 8 mm Screw 4 PCS

e mDRGemE () Bitspower baffle LPCS

et B

1% 1 R E iR % HODRGBIE 8
(1) BP-VG2080RD-A2 14
(@ L0=KSHBE 5 A
(3@ 25=kSHRA 6K
@ zsBy 1%
(5) M2.5x8 Ekigy 15%
@ Bitspower &1l 1k
(@) M2.5x6=:KigL 1%
M3 x 8 Z3kifz 4%
@ Bitspower#ii 1k

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.
KRTREN MR ERURBRNNT - MBENOASITEN - RIS SEGFUIIRE

2 FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -



for NVIDIA GEFORCE RTX 2080Ti
(s

Bitspower®

(1) BP-VG2080RD-A2 14
@ 1.0 EXREHBR 5k
@ 2.5 EXREHBR 6 R
@ zEB% 1%
(B) M2.5x 8 EKiB#k 15%
@ Bitspower &1 1k
(T) M2.5x6 ERiB# 1%
M3 x 8 KR4 4%
@ Bitspowertg ik 1k
Accessories

@ BP-VG2080RD-A2 1 SET
@ 1.0 mm Thermal pad 5PCS
@ 2.5 mm Thermal pad 6 PCS
@ Booster Screw 1PCS
(6) M2.5x8 mm Screw 15 PCS
@ Bitspower backplane 1 PCS
(7) M2.5x6 mm Screw 1PCS
M3 x 8 mm Screw 4 PCS

s e miooRco (D Bitspower baffle 1PCS

Digital RGB PIN on motherboard A&

or other equipment.

TE R IR E MR &2 AIDRGBIEE @ BP-VG2080RD-A2 148
@ 1.0 EXRSHRER 5k
@ 25 EXRERBR 6k
@ zEBy 1%
(5) M2.5x8 E:Kigy 15%
@ Bitspower B 1k
(7) M2.5x6 EKigy 1%
M3 x 8 EKIRL 4%
@ Bitspower#i 1hR

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -
& FRTREN MR ERURBRNNT - MBENCABITEN - RIS SEGFUIIRE



Bitspower®

R BE R (B4R
Original baffle(Not Included
R R A BFE(

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

BREERERERASN
Installation with the original backplate
BEREWRERAAN

\.

DRGB

&

J

XERANRBERR R ERRUEMD

The original thermal pads on the back plate should
be placed back to their original position.

BRANR SRERBZRMUEND

2 FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -

FRTREN MR ERURBRNNT - MBENCABITEN - RIS SEGFUIIRE

B BT RS E MR HRODRGBIGE
Digital RGB PIN on motherboard
» Or Other equipment.

BB REE M2 & ADRGBIGE

NVIDIA GEFORCE RTX 2080Ti

VEOO®O®E QIOIOICIOIONS;

QIOICIOIOIONS;

(e

BP-VG2080RD-A2
RRRIRAHA
REER
RRRIR#4B

M3 x 8 ZKIR#
M2.5 28

Accessories

BP-VG2080RD-A2
Original screw A
Original backplane
Original screw B
Original screw C
M3 x 8 mm Screw
M2.5 Nut

(WSS

BP-VG2080RD-A2
RITIRZA
RI&ik
RITI84£B
FRIT3822C

M3 x 8 EKIRLL
M2.5 1282

14
14 Z (A E15)
1 R(R &)
2 Z(FEE)
11 X (A E18)
2%
1@

1 SET
14 PCS(Not Included)
1 PCS(Not Included)
2 PCS(Not Included)
11 PCS(Not Included)
2 PCS
1 PCS

14
14 R(F&1E)
1 R(FEHE)
2 2 (A i)
11 2 (F81d)
24

11



Bitspower®

NVIDIA GEFORCE RTX 2080Ti

Applying the thermal pad and thermal paste on correct positions.

=}
Using appropriate amount of thermal paste.

SRERVIEMN RIS
BEERSME
[ 1 mm Thermal pad
[] 2.5mm Thermal pad
R K - MERBAASHEREEERONE L - ERRNEN  ERAROWRT
B2 BIEARNE - BREBAAREBEIN - BRRERATSRENS AR

B 1 mmEigaA
Before filling in the water, please make sure all the components are installed correctly.

[] 25 mmEszk
To prevent any leakage which may damage the PC components, please perform a
24-hour leaking test with only the pump connected to the power supply .

AN

AR - BKAD - BARIAASHCRREERNUEL - £RFEN - BFKRHERT
HT24/N 9K - BRERKEREETEN - BERERKTSERBHART

V5/5% AR



Bitspower®

A& : BitspowerZE HEEERAZEK - AFK - MABitspowerfIREER KL RER ; MEFBITERNKIRENERERE - KBEE KRB
A BALER KEERRAZHEZEUBRKERAEAURNZEER - HEZRTEEREERER -
RKiEKE - BAMEKRER -

Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or purified water for their water-cooling liquid. If the
consumer chooses different water-cooling liquids, the resulting impurities may cause peeling of the coating on some of the hardware,
water channels blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-rings deformation
leading to leakage. Any issues related to the use of inappropriate water-cooling liquid will be the responsibility of the consumer.

Do not turn on the pump if the reservoir is empty.
EE : BitspowerZ2WGHBREERAZIEK « A2K - MABitspowerfIRFEAKLZRER ; MEFBITEMMNKLIRSHBEETHE - KEEE KRE
A MALER - KEERRABHEZTEURRKEREERURAZOEN - HEEBITRIEERTmRE -

REKE - BABHKRER -

AR HKED - AEERASHCLRELENUE L - EAREW - BEFRKRNERT - ET24)0ENKIE - BRERKELEBHIN BRRERKMERNEMIHNIERER -

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.

AR HKED - BRBATASHCLREERNUE L - EAFEN - BFOKROERT - #7240 NHKE - BRERKETEEAEN - BRRKERKMNSREBMBANIRL -

FRERBHERNRAELURBENES - MBEHOASITEN - ERESZARGUBYRE - VS/%—ﬁHﬁ
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

AREREN MR EXURBRNNT - MBENCABITEN - RIS SEGFUIIRE -



